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Q.No.1 Encircle the correct answer from the following choices. Q)

g 6nfl;;j£u’ fulu: /';«l‘s‘:'l KR o J. 3l

i.

479 321 as in expanded form:

e QLI 2 A3 479 321

Q.No.1 Encircle the correct answer from the following choices. Q)

LIS Sl S E Wz e S 5t

i.

479 321 as in expanded form:

e Ll 22 b33/ 479 31

(@)

400 000+900 00+7 000+200+30+1

(b)

400 000+70 000+9 000+200+30+1

(a)

400 000+900 00+7 000+200+30+1

(b)

400 000+70 000+9 000+200+30+1

(©

400 000+700 00+9 000+300+20+1

)

400 000+70 000+9 000+100+30+2

©

400 000+700 00+9 000+300+20+1

(@

400 000+70 000+9 000+100+30+2

ii. The place value of digit "7" in number 817 656 is: I‘au.‘w:‘f g U‘Ad/ 7' k2 J=817 656

ii.  The place value of digit "7" in number 817 656 is: 2%926WJ'7'/MJ817 656

(@)

70

(b)

700

(©)

7000

(d)

70 000

(a)

70

(b)

700

©

7000

(d)

70 000

iii.

Six hundred twenty three thousand four hundred ninety five in numbers:

-u.‘.’ﬁ JU)’A‘/ ‘L]O‘Lg.f/‘l‘g/%u’frg 7

iii.

Six hundred twenty three thousand four hundred ninety five in numbers:

_u:f’iuﬁu;%f ‘Li‘l.g.nslgﬂj;ufyg”

(@)

623 495 (b) 633 495

(©)

623 595 d) 628 495

(a)

623495 | m)| 633495

©

623595 | (@ | 628495

iv.

732 051 can be written as in expanded form: :‘QCCQVFJLPGKL(BZ 051

iv.

732 051 can be written as in expanded form: ‘gﬁﬁw@tdﬁdﬂ’?/nz 051

(a) |700 000 + 30 000 + 200 + 50+ 1 | (b) |700 000 + 30 000 + 2 000 + 500 + 10
(c) {700 000 + 3000 +200 + 50 + 1 (d) {7000 + 3000 + 200 + 50 + 1

V. 854 643 can be written as in words: :‘41:Clgl¢6u.f};wl/ 854 643
(a) [Eight hundred fifty four thousand six hundred forty three Jg D:‘:"rp:/%ugrﬁ 7
(b) |[Eight hundred five thousand six hundred forty three uﬁj Uf'rq:’/'/}égrﬁ 7
(c) |[Eight hundred fifty four thousand four hundred forty three u:,J D?r/g/%ugrﬁ 7
(d) |[Eight hundred four thousand six hundred forty three Jg Df'y,: e Lﬂ‘ﬁ 7

(a) {700 000 + 30 000 +200+ 50+ 1 | (b) {700 000 + 30 000 + 2 000 + 500 + 10
(c) 1700 000 + 3000 + 200 + 50 + 1 (d) [7000 + 3000 + 200 + 50 + 1

v. 854 643 can be written as in words: :‘acﬁlglefufb’lﬁb( 854 643
(a) |[Eight hundred fifty four thousand six hundred forty three Jf @'f{/%dﬁ,fi T
(b) [Eight hundred five thousand six hundred forty three Jﬁjlﬁfrgﬂ/‘-égri T
(c) |Eight hundred fifty four thousand four hundred forty three th L“lfnlg/y;ugré T
(d) [Eight hundred four thousand six hundred forty three Jf C’%‘rg’ /'/’;/.l.gri T

Q.No.1: The speed of light in vacuum is 299 792 kilometres per second.
e HE 3K 299 792 L S Gt

() Write it in words. @) oLt
(ii) Write it in expanded form. (€)) _u.‘f’g ui'ﬁ}’f ?fu’ [

_w"jru’»&,ﬁmém

(iii) Write the place of each digit in it. )

Q.No.1: The speed of light in vacuum is 299 792 kilometres per second.
e 3K 299 792 1SSt

(i) Write it in words. ?2) -u.‘f’g qu’l.EJb(u’ )
(ii) Write it in expanded form. a -U‘.‘."J u:dﬁ d""/ ;:’/u’ )
(iii) Write the place of each digit in it. ?2) _uf’grli’ﬂgc;/%/;éu’ I




